
Fluency 3 

Look at each object. Complete the stem sentences.  

The length of the Nelson Mandela statue is _____cm. 

_____cm is equivalent to _____m. 

 

The length of the Trafalgar Square Lion monument is _____cm. 

_____cm is equivalent to _____m. 

 

 

Fluency 4 

Look at each object. Complete the stem sentences.  

The height of the Robert Burns statue is _____cm. 

_____cm is equivalent to _____m. 

 

The height of the Edith Cavell statue is _____cm. 

_____cm is equivalent to _____m. 

Fluency 1

Use the tape measures to complete the stem sentences.  

400cm is equivalent to _____m. 

1,000cm is equivalent to _____m. 

8m is equivalent to _____cm. 

1m is equivalent to _____cm. 

 

Fluency 2 

Complete the stem sentences. 

200cm is equivalent to _____m. 

900cm is equivalent to _____m. 

5m is equivalent to _____cm. 

7m is equivalent to _____cm. 

 

3M031 Pupil Tasks 

Master Simple Equivalent Lengths in Metres and Centimetres 

Fl
ue

nc
y 

© Planpanion LTD 2024 

R
ea

so
ni

ng
, a

ns
w

er
s 

an
d 

te
ac

hi
ng

 s
lid

es
 a

re
 

av
ai

la
bl

e 
w

it
h 

a 
su

bs
cr

ip
ti

on
. 

This is a FREE resource from 



Fluency 8 

Complete the stem sentences. 

850cm is equivalent to _____m and _____cm. 

138cm is equivalent to _____m and _____cm. 

6m and 70cm is equivalent to _____cm. 

2m and 6cm is equivalent to _____cm. 

 

Fluency 9

Look at each object. Complete the stem sentences.  

The length of The Women of WW2 monument is _____cm. 

_____cm is equivalent to _____m and _____cm. 

 

The length of The Great Fire of London monument is _____m 

and _____cm. 

_____m and _____ cm is equivalent to _____cm. 

Fluency 5

Write the equivalent length in centimetres. 

The length of the Cenotaph base is 5m. 

The length of the Cenotaph base is _____ cm. 
 

Fluency 6

Write the equivalent length in metres. 

The height of the Winston Churchill statue is 400cm.  

The height of the Winston Churchill statue is _____m. 

 

Fluency 7 

Use the tape measures to complete the stem sentences.  

910cm is equivalent to _____m and _____cm. 

708cm is equivalent to _____m and _____cm. 

5m and 20cm is equivalent to _____cm. 

3m and 2cm is equivalent to _____cm. 
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Fluency 10 

Look at each object. Complete the stem sentences.  

The height of the Mary Seacole statue is _____cm. 

_____cm is equivalent to _____m and _____cm. 

 

The height of the Mahatma Gandhi statue is _____m and _____cm. 

_____m and _____cm is equivalent to _____cm. 

 

Fluency 11

Write the equivalent length in centimetres. 

The height of the Florence Nightingale Statue is 2m and 75cm. 

The height of the Florence Nightingale Statue is _____cm. 
 

Fluency 12

Write the equivalent length in metres. 

The length of the Alan Turing Memorial is 155cm. 

The length of the Alan Turing Memorial is _____m and _____ cm. 

Fluency 10 

Look at each object. Complete the stem sentences.  

The height of the Mary Seacole statue is _____cm. 

_____cm is equivalent to _____m and _____cm. 

 

The height of the Mahatma Gandhi statue is _____m and _____cm. 

_____m and _____cm is equivalent to _____cm. 

 

Fluency 11

Write the equivalent length in centimetres. 

The height of the Florence Nightingale Statue is 2m and 75cm. 

The height of the Florence Nightingale Statue is _____cm. 
 

Fluency 12

Write the equivalent length in metres. 

The length of the Alan Turing Memorial is 155cm. 

The length of the Alan Turing Memorial is _____m and _____ cm. 
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